## **Transfers Report**

This report contains the transfers results.

Contest Name	Badenoch and Strathspey
Valid Votes	5,529
Positions to be Filled	4
Quota	1,106

## Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
John BRUCE	Scottish Conservative and Unionist	861
Muriel COCKBURN	Scottish National Party (SNP)	886
Dave FALLOWS	Scottish National Party (SNP)	371
Declan GALLACHER	Scottish Liberal Democrats	489
Pippa HADLEY	Re-elect your Scottish Green Councillor	568
Russell JONES	Independent	1,280
Bill LOBBAN	Independent	842
Charlie WHELAN	Scottish Labour Party	232
	Total	5,529

Candidate Russell JONES Elected with 1,280 votes, being in excess of the quota of 1,106

## **Transfers Report**

This report contains the transfers results.

174.00000

# Stage 2 - Surplus of Russell JONES

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John BRUCE	132	0.13593	17.94276
Transfer to Muriel COCKBURN	104	0.13593	14.13672
Transfer to Dave FALLOWS	79	0.13593	10.73847
Transfer to Declan GALLACHER	104	0.13593	14.13672
Transfer to Pippa HADLEY	186	0.13593	25.28298
Transfer to Bill LOBBAN	391	0.13593	53.14863
Transfer to Charlie WHELAN	71	0.13593	9.65103
No further preference	213	0.13593	28.95309
Not transferred due to rounding			0.00960
	Total		174.00000

## **Transfers Report**

This report contains the transfers results.

# Stage 3 - Exclusion of Charlie WHELAN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John BRUCE	19	1.00000	19.00000
Transfer to Muriel COCKBURN	14	1.00000	14.00000
Transfer to Dave FALLOWS	16	1.00000	16.00000
Transfer to Declan GALLACHER	70	1.00000	70.00000
Transfer to Pippa HADLEY	30	1.00000	30.00000
Transfer to Bill LOBBAN	50	1.00000	50.00000
Transfer to John BRUCE	11	0.13593	1.49523
Transfer to Muriel COCKBURN	1	0.13593	0.13593
Transfer to Dave FALLOWS	1	0.13593	0.13593
Transfer to Declan GALLACHER	18	0.13593	2.44674
Transfer to Pippa HADLEY	11	0.13593	1.49523
Transfer to Bill LOBBAN	13	0.13593	1.76709
No further preference	33	1.00000	33.00000
No further preference	16	0.13593	2.17488
Not transferred due to rounding			0.00000
	Total		241.65103

## **Transfers Report**

This report contains the transfers results.

# Stage 4 - Exclusion of Dave FALLOWS

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John BRUCE	7	1.00000	7.00000
Transfer to Muriel COCKBURN	291	1.00000	291.00000
Transfer to Declan GALLACHER	20	1.00000	20.00000
Transfer to Pippa HADLEY	29	1.00000	29.00000
Transfer to Bill LOBBAN	14	1.00000	14.00000
Transfer to Muriel COCKBURN	35	0.13593	4.75755
Transfer to Declan GALLACHER	5	0.13593	0.67965
Transfer to Pippa HADLEY	10	0.13593	1.35930
Transfer to Bill LOBBAN	10	0.13593	1.35930
No further preference	26	1.00000	26.00000
No further preference	20	0.13593	2.71860
Not transferred due to rounding			0.00000
	Total		397.87440

## **Transfers Report**

This report contains the transfers results.

104.03020

## Stage 5 - Surplus of Muriel COCKBURN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John BRUCE	17	0.08597	1.46149
Transfer to Declan GALLACHER	105	0.08597	9.02685
Transfer to Pippa HADLEY	548	0.08597	47.11156
Transfer to Bill LOBBAN	183	0.08597	15.73251
Transfer to John BRUCE	3	0.01168	0.03504
Transfer to Declan GALLACHER	8	0.01168	0.09344
Transfer to Pippa HADLEY	39	0.01168	0.45552
Transfer to Bill LOBBAN	34	0.01168	0.39712
No further preference	338	0.08597	29.05786
No further preference	56	0.01168	0.65408
Not transferred due to rounding			0.00473
	Total		104.03020

## **Transfers Report**

This report contains the transfers results.

## Stage 6 - Exclusion of Declan GALLACHER

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John BRUCE	133	1.00000	133.00000
Transfer to Pippa HADLEY	141	1.00000	141.00000
Transfer to Bill LOBBAN	149	1.00000	149.00000
Transfer to John BRUCE	17	0.13593	2.31081
Transfer to Pippa HADLEY	24	0.13593	3.26232
Transfer to Bill LOBBAN	35	0.13593	4.75755
Transfer to John BRUCE	7	0.08597	0.60179
Transfer to Pippa HADLEY	40	0.08597	3.43880
Transfer to Bill LOBBAN	13	0.08597	1.11761
Transfer to Pippa HADLEY	5	0.01168	0.05840
Transfer to Bill LOBBAN	2	0.01168	0.02336
No further preference	156	1.00000	156.00000
No further preference	51	0.13593	6.93243
No further preference	45	0.08597	3.86865
No further preference	1	0.01168	0.01168
Not transferred due to rounding			0.00000
	Total		605.38340

## **Transfers Report**

This report contains the transfers results.

# Stage 7 - Surplus of Bill LOBBAN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John BRUCE	286	0.02409	6.88974
Transfer to Pippa HADLEY	304	0.02409	7.32336
Transfer to John BRUCE	94	0.00327	0.30738
Transfer to Pippa HADLEY	117	0.00327	0.38259
Transfer to John BRUCE	7	0.00207	0.01449
Transfer to Pippa HADLEY	78	0.00207	0.16146
Transfer to John BRUCE	2	0.00028	0.00056
Transfer to Pippa HADLEY	14	0.00028	0.00392
No further preference	465	0.02409	11.20185
No further preference	238	0.00327	0.77826
No further preference	111	0.00207	0.22977
No further preference	20	0.00028	0.00560
Not transferred due to rounding			0.00419
	Total		27.30317

## **Transfers Report**

This report contains the transfers results.

# Stage 8 - Exclusion of Pippa HADLEY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John BRUCE	149	1.00000	149.00000
Transfer to John BRUCE	35	0.13593	4.75755
Transfer to John BRUCE	121	0.08597	10.40237
Transfer to John BRUCE	88	0.02409	2.11992
Transfer to John BRUCE	8	0.01168	0.09344
Transfer to John BRUCE	38	0.00327	0.12426
Transfer to John BRUCE	31	0.00207	0.06417
Transfer to John BRUCE	8	0.00028	0.00224
No further preference	619	1.00000	619.00000
No further preference	196	0.13593	26.64228
No further preference	467	0.08597	40.14799
No further preference	216	0.02409	5.20344
No further preference	36	0.01168	0.42048
No further preference	79	0.00327	0.25833
No further preference	47	0.00207	0.09729
No further preference	6	0.00028	0.00168
Not transferred due to rounding			0.00000
	Total		858.33544